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ÅF,®ÐM¥0Æ#zVÅ®ZŠ¥x<X y = p ( x ) Š~ˆ .1

3 (A)

5 (B)

4 (C)

2 (D)

Å7¥x<X .2

(A)

0 (B)

2 (C)

1 (D)
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9ì (relation) ƒÂÃ́)zZ] DE||AC ~Z¤/ ∆ABC .3

(B) (A)

(D) (C)

ƒÂ%zo 360 cm3 Zq-Z2Z:ZzgZq-%zoÆ‡°zVÆÛ¢ZzgZz™×V)z~�XZ2Z:»w .4

»wHƒ@*ì

180 cm
3 (B) 120 cm

3 (A)

360 cm3 (D) 90 cm3 (C)

¾nÆƒD� (Lines) ÐªCÙG‰èo  2x + 4y - 12 = 0 Zzg x + 2y - 4 = 0 .5

áZi~ (B) s™äzZá (A)

Zq-Šzu}6,ÀŠ (D)
!3‹3þ
NE

E (C)

zZV¥Á¥x< 9 ƒÂ zZV¥Á n Zq-ˆ!£°» .6

5 (B) - 25 (A)

25 (D) - 5 (C)
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ƒ@*ì ƒÂ Z¤/ .7

3 (B) (A)

(D) 1 (C)

Û¢Æ°æN{»ÒgKƒ@*ì 7 cm .8

616 cm3 (B) 154 cm2 (A)

308 cm2 (D) 616 cm2 (C)

8 × 1 = 8 ŠŠŠŠgggg̀`̀̀ffffssssÎÎÎÎZZZZÑÑÑÑ]]]]iiii<<<<:::: .II

)zZ]ÆZk ~Z¤/ Zzg Šzé)zZ] .9

�h}ÆiÅ®ZŠsX

Å7HƒCì? sec θ ƒÂ Z¤/ .10

ÅeöHƒCì? ƒÂ ¢ìXZ¤/ AC ŠZ],{»%œ/Zzg O ^~ .11

ìX 'l ' ZzgF,hZz™ð ' r ' %zoÅÀR»gK¥x™ä»Ãgñ!sXTÆ‡°{»Û¢ .12

» (Composite number) GŠ°ŠZzgƒÐgL%“°Š (Smallest) ƒÐgL .13

¥x<X HCF 
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¥x<X P ( 1 ) ƒÂ Z¤/ .14

ƒÂŠzuZ_.g¥x<X - 4 »Zq-_.g ( x + 4 ) ( x + 3 ) = 0 )zZ] .15

Å7¥x<X cos A ƒÂ sin2 A = 0 Z¤/ .16

8 × 2 = 16 ŠŠŠŠgggg`̀̀̀ffffssssÎÎÎÎZZZZÑÑÑÑ]]]]iiii<<<<:::: .III

»i¥x<X 2x - 4y = -24 Zzg 2x + 3y = 11 )zZÂVÆ�h} .17

Zg»y»quÿ L¦¥x<X 20 ÆZ’Zð 5 + 10 + 15 + .... Ãgñ!ÆZEwÐˆ!Ÿ .18

Å7¥x k Æ#zV»qÝ¦QyÆqÝ¢[»ÛƒÂ M¥0 .19

<X

Å7¥x<Zzg_.gzVÅâÎ (Discriminant) Æ¡ ŠzŠgY)zZ] .20

)n(C�X

cosec A ( 1 - cos A ) ( cosec A + cot A ) = 1 U*"$< .21

cccc****

U*"$<

ÆzV`Æ&B3}é
EG]¥x<X (Line segment) Ã5äzZáâ ( 4,  7 ) Zzg ( 2,  3 ) Õo .22

Šg`�X 6,Zôm,~ws{ (Faces) kÅ̂Æ0*³Æ¥pV .23

:æ NsªCÙƒä»ZÈw¥x<X (Vowel) 0*³ÃZq-%û²ŠHZz6,~¥c6,

cccc****
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e÷ÆZq-ö~ÕƒZZq-¾ƒ@*ì�̂~Cc*ŠHìX¾¥16,Zq-°ŠÅ¶K0+„™@*ìXz{°Š

~ÐÃðZq-ƒ@*ìXt)z~Skã}ò�X¾»¤t°ŠÅ¶K0+„™ä 1, 2, 3, 4, 5, 6, 7, 8

»ZÈw¥x<X

ƒX 60° Û¢ÆŠZ],}ÃŠz̃k¯�XÆŠgxy»iZzt 4 cm .24

9 × 3 = 27 ŠŠŠŠgggg̀`̀̀ffffssssÎÎÎÎZZZZÑÑÑÑ]]]]iiii<<<<:::: .IV

)**ê°ŠìX U*"$<� .25

cccc****

¥x<X LCM » 12 Zzg HCFÆ ( 306, 657 )  

¢aic*Š{ìÔZ¤/(,ZIgLIÐ 60 Ð (Side) lúöÆyZy»zF,QkÆgDI .26

¢aic*Š{ƒÂyZyÆ̂VÅM×V¥x<X 30 

cccc****

ƒÂ‡°{Zzg 108 cm2 ic*Š{ìX[»gK 6 cm Zq-[»Zg·q)Zz™ð(QkÆ‡°{Ð

Zg·q¥x<X
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CD ⊥ AB ÆgZk�XZ¤/ ABC [C ( 5,  8 ) Zzg B ( 8,  0 ) ÔA ( 0,  6 ) Š~ˆ̂~ .27

ÅMð¥x<X CD ƒÂ

cccc****

[Æ (Isosceles) )z~Z—: C ( 0,  4 ) Zzg B ( 9,  5 ) ÔA ( 8,  - 4 ) U*"$<�

gZk�X
¥x<:  (Mode) Šg`fs®Š~(].zwÐñe .28

¯kz9 ®Š
Frequency

0-5 8

5-10 9

10-15 5

15-20 3

20-25 1

 = 26      
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Z�ÛZŠ 35 gppzZá (Policy) Å0*Œ (Agent) ZÐ (Insurance) Šg`fs].zw~Z›g÷ .29

Ð0¥â]Šg`�:

¯�: 'ogive' Zzæ (Less than type) ÁÅn

/)‚w~( 0*ŒgppzZßVÅ®ZŠ

ÐÁ 20 2

ÐÁ 25 6

ÐÁ 30 12

ÐÁ 35 16

ÐÁ 40 20

ÐÁ 45 25

ÐÁ 50 35

)z~ZÑHq ∆ ABC Z¤/BC : CD = 1 : 2 Zk§bì� C 6,Zq-` BD ~ ∆ ABD .30

  [ƒÂU*"$<

U*"$<:LLŠZ],}ÃËÛzã`ÐQYäzZá̃ÎVÅM×V',Z',ƒC�Xóó .31
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ŠZ],zVÆ̧k�X AB Zzg CD ìX 7 cm Zzg 21 cm %œ/ÆŠzë%œ/ŠZ],zV»Û¢ O .32

ìT§b^~Cc*ŠHì‚tŠZģ»gK¥x<X = 30°

cccc****

6,gD�XCÙZq-Û P Zq-%,ìT~ŠzÛŠZ],}Zq-Šzu}Ã̀ ABCD ^~

ìX‚tŠZģ»gK¥x<X 11 cm ŠZ],}Æ̧kÅMð

�ZzgQZq-ŠzuZ[¯�TÆ 8 cm Zzg 7 cm Ô6 cm Zq-[¯�TÆZHq .33

�X ZHq¬[Æn~ZHqÆ

4 × 4 = 16 ŠŠŠŠgggg`̀̀̀ffffssssÎÎÎÎZZZZÑÑÑÑ]]]]iiii<<<<:::: .V

Šg`fs)zZÂVÆ�h}»F,½i¥x<: .34

2x + y = 8

x + y  = 5
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ÃûZgyZyÆáZi~Qhg;ìXyZyÆZq-`Ð B Ð£x A W�y~Zq-ƒZð˜i£x .35

]ÆQ̂Ï` 10 6,ƒ@*ì A ƒ@*ìXZ#z{£x 60° x@{™ä6,ƒZð˜i»iZztZg·q

6,ƒ@*ìXƒZð˜iÅgëgZ¤/ B ƒ@*ìZ#˜i£x 30° Ðx@{™ä6,iZztZg·q

k(   = 1.73 ) ƒÂ¥x<�ƒZð˜i¾—~6,Qhg;ìX 648 km/h

ûZgi}

U*"$<LLZ¤/ŠzwV~$�.ç
GE
G~iZzb',Z',ƒVA$QyÆ$�.ç

GE
G~ZHqÅÚ',Z',c*)pÐƒ(ƒCì .36

ZzgZknŠzâV[x/ƒVÐXóó

Z,Z2Z:Å^»ìTÆŠzâVu}Û°æNz~^Æ�X (Capsule) ŠzZð»Zq-µ54ið GFw .37

B¢aƒÂQk»ÒgK¥x<X 5 B¢aZzgµ54ið GFw»¢ 14 7g}µ54ið GFwÅMð

cccc****
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ÆnÐÔ‡°{ÅRÆáZi~»^™ (Vertex) Zz™ðÆ‡ìŠZ*z~%zoÃQkÅgZk 30 cm

ƒÂ%zoÆaƒ} Zµ™Šc*ŠHXqÝƒäzZágL%zo»wŠØ‰%zoÆw»

8~î OÅZz™ð¥x<: (Remaining)
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¥ÁŠzu}ˆ!£°Æ (First) ŠzZµˆ!£°»¬x�Ût',Z',))z~(ì¬ˆ!£°»Z’Zð .38

ic*Š{ìX 3 Z’Zð¥ÁÐ

ƒÂŠzâVˆ!£°¥x 29 zZV¥Á 8 ZzgŠzu}ˆ!£°» 28 zZV¥Á 7 Z¤/¬ˆ!£°»

<X
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